WM —EES AIl'TAL

PC. POCEJ3I

Rl da 3T 1 55
PC 6 01 O O

[
OHRABKS Q%ENE QERIBY DEERS OFHRS

PC. BRNEE q TERIRAL ERBEOR gens HEEN
| — e neos ler es Ty
=171 4 ®4amm M5. MBX0.8 ' ®4, ©6 ‘
!!“I—L 6. ®6mm - / ffffffffffffffffff =8: e B0 e
01: PT1/8 I '
— R 8: ®8mm : ‘o4 ®6 [T T =8. PTH
POC. @%ZSZE@ 10. ®10mm 02: PT1/4 108'0910 :
12: ©12mm 03: PT3/8 L 012 D: k& EO: RE
04: PT1/2 ; ;
el BENmnByaS5HEinREaRaEs
k3 - 2(0~
ERENER 0~10kgf/cm’(0~1.0MPa) ERET 8 47 448 o o h‘l%g& oI 1P
Ak —750mmHg(10Torr)
. M5 D °
RULM & D 1.5MPa PT1/8 ° ° ° ° °
HRRESEE (C) -20~70 PC PT1/4 ° D ° D 0
RS ERRENPUE TS/ . . . .
> - 1
e REB/FRE, M5 ® °
PT1/8 [ ] [ ] [ ] [ ]
POC PT1/4 [ ] o o [ ] o
= PT3/8 D D °
PT1/2 [ ] [ ]
1CAONING, PALZETE, HNtE;
R ALK
2. BEBOIREBHA, MEAH PCH 5l FS| &% | HE FS &% L3
. 1 | BEE0| POM | 4 | ELE | POM
RO BEBRE, BRRSE 2 | =hA | BE 5 |04  NBR
BRHTTER; 3 | BERH | ABN| 6 | KK =i
3. BREOSHIEENESEBTE,
PRI ER K,
SMERELAE
D
PC&3I == POCZ5l
H
NN o
i © M5 #&
I
=
E/ L] R
RBS\FS oD R L © K ¥iaH | E&E(g) T
PC4Mb5 M5x 0.8/ 3.5 19.5 14 9 6.5
PC401 4 PT1/8 7.5 19.5 14 10 7
PC402 PT1/4 10 19.56 14 14 13.56 —
PC6M5 M5x0.8 3.5 225 | 16.5 12 85 | BS\H¥S oD R oP L c K | 3iH | E8(g)
PC601 PT1/8 75 22.0 18.5 12 75 ' POC4M5 M5x 0.8 9 3.5 18.5 14 2.5 3.6
PC602 6 PT1/4 10 245 | 185 14 15.5 ;. _POC401 | 4 | PT1/8 10 7.5 18 14 3 5.5
PC603 PT3/8 11 225 18.5 17 24 POC402 PT1/4 14 10 19.5 14 3 12.6
PC604 PT1/2 4 26.0 18.5 21 46 | POC6M5 Mb5x0.8] 12 3.5 21.5 | 16.5 2 5.9
PC801 PT1/8 7.5 28 18.5 14 135 ; POC601 | 6 PT1/8 12 7.5 22.0 | 18.5 4 6.3
PC802 8 PT1/4 10 27 18.5 14 13 | POC602 PT1/4 14 10 22.0 | 18.5 4 11.8
PC803 PT3/8 11 23.5 18.5 17 21 POC801 PT1/8 14 7.5 26.5 18 5 9.9
PC804 PT1/2 14 27 18.5 21 435 | POC802 | 8 PT1/4 14 10 25 18 6 10.1
PC1001 PT1/8 7.5 30 21 17 20.5 POC803 PT3/8 17 11 23.5 18 6 19.3
PC1002 10 PT1/4 10 32.5 21 17 24 | POC1001 PT1/8 17 7.5 30 21 5 16.5
PC1003 PT3/8 11 28 21 17 20.5 POC1002 10 PT1/4 17 10 29 21 6 15.4
PC1004 PT1/2 14 26.5 21 21 36 | POC1003 PT3/8 17 11 28 21 8 18.7
PC1201 PT1/8 7.5 32.56 23 21 38.5 i POC1004 PT1/2 21 14 265 | 21 8 35.3
PC1202 12 PT1/4 10 35 23 21 40.5 ; POC1202 PT1/4 21 10 34.5 23 6 32.3
PC1203 PT3/8 11 30.5 23 21 28.5 POC1203| 12 PT3/8 21 11 30 23 8 25.1
PC1204 PT1/2 14 32.5 23 21 41.5 3 POC1204 PT1/2 21 14 32 23 8 37.5

P4 259



WM —EES

AIl'TAL

PC. PLE{RERZI

R an 3T 19 65

PC 6 01 [J

| |
1238506

0-™M

[
QERIBY

OMERS QEENE GBmERS BFRRES GXRRRS
PC. BNERE EERL OCREE0E ) mefs  EeRX
f— M3: M3X0.5 ©3.2, D4 :
EMEEI 3.2, ®3.2mm [ =8: K& V2O e
[ . MBX0.8 0 ®32 D4 D6 e oz, A el
PLOUBESTE o ogmm RO EEETE Mo
D. ¥ .
01: PT1/8 4, ©6 - R BO: ®&
i eg BENmnByaS5HEinREaRaEs
e 2
Em’iﬁﬁ:‘. 0~10kgf/cm (0~1.0MPa) Fﬂg;ﬂ R-‘&iﬂ*ﬁ oRE h‘l%g& o
RAFE —~750mmHg(10Torr) 3 .' °
UEM 1.5MP.
1%\;?@5730 oMPa PC/PL M5 ° °® °
HRRESEE (C) -20~70 P11/ ° °
BERE ERRETPUE
e REB/FRE,
= amtEE
1« NEBUEINE, BDLZETE;
2. BEESREBHA, M3/MEAH
RO BEBRE, BRRSE
BEH TR,
3. BREOBRRE, BTHRE=BEA,
HOENESRBOE, HERKEEER,
SMERELAE
DD
PCZ 5l - PLE®I
=1 & '
I i O i Z
AT .72 Ve
|| o MamsHlE | Q ‘ | - K 0
o i ‘ | T___TH ,
_ ! i / i | Sy, /
> = MY S =l ECE. 4 ,
<Si2p @ y M3/M5#li%
o
D)~ ] : ML
"/ .
6 — R
X Il
BEEE (oD R L Cc| K| X | Y Mi&HAiaHBER(Q === oD R oP L | K |EA|EB[@#H X | Y [E&(g)
PC3.2M3-M| .,/ M3x0.5| 3 | 16 115 6.8 87| 7 15 | 1.7 PL3.2M3-M , IM3x05 | 3 [12 | [14 7 |68 /87 24
PC3.2M5-M |~ “|M5x0.8/3.5| 16 [11.5/ 6.8 8.7 7 2 2.0 [ PL3.2M5-M|~“M5x0.8/ """ [35[ 12| "l145 7 |68 87| 2.7
PCAM3-M M3x0.5 3 [17.512.5/7.8/9.5| 8 15 [ 2.4 | PLAM3-M M3 x 0.5 3 125 14| 7 7895 3.0
PCAM5-M | 4 |M5x0.8|3.5| 17 [12.5/ 7.8/ 9.5| 8 2 27 | PLAM5-M | 4 [M5x0.8/8.5/|3.5[12.5/ 15 [145] 7 | 78|95 | 33
PC401-M PT1/8 |7.5/17.5/13.5/7.8|/9.5| 10 3 55 | PL401-M PT1/8 75125 16| 10 | 7.8 95| 6.2
PCEM5-M | | M5X0.8 |3.5/18.5/13.5/9.8[11.7] 10 2 3.6 . PLOM5-M | . [M5X0.8|  [35135/ 165/ 7 [9.8 117 4.0
PC601-M PT1/8 |7.5/19.0[15.5/ 9.8 [11.7] 11 4 6.0 | PL601-M PT1/8 | | 7.5/13.5 ~""16.5| 10 | 9.8 [11.7| 6.8

260




WM TH—%&

3

AIl'TAL

HmE gy
A iT %5
EFeESE0 PL ? 011 F F
PP PO
| |
OMERS QEENE QEZIBLY GHERS OFBERE
PHW: PIURITOIIE=)8 | PL: LAUREI_ & JEERS EREE0E |FeRS FeEN | SR
‘ B0 we PO
M5 M5><o.8§®4, 6 =8: W@
! | E0): KB | =
IR RS
4. ®4mm
6: ®6mm 1
L D8MM b e Z=203.
PCF NN ER 6. o 10mm 3 3 =
HIE" 12: ®12mm i%[!; Ee 1 E(IE/IFF
01: PT1/8 }@4 o6 """""" foeoeeee
02: PT1/4 08 010 D: & 1
03: PT3/8 | g19 3%1 @3
04: PT1/2 | ! P e
! ik B HE
PKD 6-4 01 [] [
|
®ﬂ.#§ﬁ’.% QEEOE QEENE @ERZEY OHERS ©FERS
PKD: BHZRACDIE 6. ®BmMM 4. ®4mm 01:. PT1/8 r;ﬁi@ﬁ% ,,,,, ;;Di@ﬁ&{ ,,,,,,,,,,,,,,,,,,,
8. ®8mm 6. ®6mm 02: PT1/4 =8 W EBO. Xe XK We =8. PTF
10: ©1omm |8 oamm o, T3 b ®e B0 RE A RE
Framieg ENRBYSHERNEERESR
ERENTEE 0~10kgf/cm’(0~1.0MPa) o BEOE mo| MRE HWEQE
ﬁJE) ~750mmHg(10Torr) @RS RS, 6| ©8 [®10/ ®12 ;?;E i |04 06| 08010012
- M5 e | o M5 | @ | @
FRUEMIEST) 1.5MPa P/ ® | ® | ® | ® | ® PTI/E @ | ®  ® | ®
HRREEE (C) -20~70 PL PT1/4 | ® | @ | @ | @ | @ PLF [PT1/4| @ [ @ | @ | @ @
EEE BRI EHPUE PT3/8 e o [ o o PT3/8 e o o o
5 W PT1/2 e | o | o o PT1/2 e o o
o RERE M5 e | o M5 | @ | @
=] PT1/8 | ® | ® | @ | @ PT1/8| ® | @ | @ | ®
=it PLL [PT1/4 | @ | @ | @ | ® | ® PCF [PT1/4| ® [ @ @ | ® | @
1. EEZNRSHIE, r;irﬁﬁ¥%3éwiﬂ%2ﬁ ﬁf/g LA : : EP@ : : : :
2, TR, 7@@5% m§$ ,ﬁi e L
N QE%ZY%Bﬁjﬁﬁ@%ﬂﬁU, MS/A%U@.%ﬂW@Eﬂ)—T, TRIRIR PED | PT1/4 | ® | @ | ®©@ | ® | ® PMF [PT1/4 | ® | ®@  ®©  ® | @
SOEEBHTOUNR PYB | PT3/8 e o o o PT3/8 e o o o
5. EENIRTLSERAER, WNATEER PT1/2 [ ) PT1/2 e o o
iy M5 e | o
ZEE oy [ PTIE | @ e | ® e | . BEEO&
PHE | PT1/4 ® o o 5 | M 06-04 ©8-06 ©10-08
PLE3I K| &% | HE EE/S L2 .. PT1/8 ®
- /2 e o o
1 ZERED POM PTi/s @ | ® | e PKD |PT1/4 °
2 | BAIA | 8Es puw |_PT1/4 e o [ o PT3/8 °
3 BEDRH AHN PT3/8 e o o o
ey PT1/2 e o o
4 | EAIFE | POM 5T1/8 )
5 |JEOS, NBR PT1/4 e o o
| 6 | &K | PBT PZB ["pTa/s o o o o
7 | OBIR | NBR PT1/2 e | o [ o
=S 8 s =i
4 261



WM —EES AIl'TAL

mE— g

ShERALAE
PLE3I ~ PCFR3I
EA oP
— e
/= D o
T 1 T ei IS o i v
Y - w H ©

EB
()
T
_
“
L

MEFE | oD| R ©oP | L | K | EA | EB [3i#H/E&(g) | ®S\ES| oD R oP L [ K |[3tiH [E&(g)
PLAMS5 M5x08 9 |35 14 | 17 | 16 | 8 3 ! PCF4M5 M5x0.8 9 5 21 14 10 | 2.7
PL401 4 PT1/8 9 7.5 14 17 185 10 4.5 | PCF401 4 PT1/8 9.5 8 23 14 14 4.5
PL402 PT1/4 | 9 10 | 14 | 17 1220 14 12 | PCF402 PT1/4 | 9.5 11 26 14 17 6.5
PL6MbS M5x 0.8/ 125 3.6 17 20 17.0 8 4.5 : PCF6M5 M5 x 0.8 12 5 215 16.5 12 3.9
PL6OT PT1/8 |12.5] 7.6 | 17 | 20 |205]| 10 6 | PCF601 PT1/8 [ 125 | 8 [ 255|165 | 14 | 56
PL602 | 6 | PT1/4 | 125 10 | 17 | 20 |24.0 14 | 13.5 . PCFe02 | 6 | PT1/4 | 125 | 11 | 285 165 17 | 75
PL603 PT3/8 |12.5| 11 | 17 | 20 |25.5| 17 | 20.5 PCFe03 PTa/s | 13 2 298 165 21 707
Etgg;‘ ggg 11255 7“; 11875 5(3’ 28-2 ?2) 7365 . PCF604 PT1/2 | 13 | 135 | 31.0 | 16,5 25 | 13.8
: : : : ! PCF801 PT1/8 | 14 8 | 275 185 | 14 | 58
ﬁtggg 8 Egg 12 1? 12'2 ;g gg'g 1‘7‘ ;? . _PCFB02 | | PTI/4 | 145 | 11 [ 305 | 185 17 | 8.4
BLB04 PTim 15 112 T1ssl 23 Ta1oT 21 6 | PCF803 PT3/8 | 14.5 | 12 | 315 | 185 | 21 | 11.2
PL1001 PT1/8 | 18 | 7.5 | 21 | 255 |25.0 17 | 16.5 PPCCFF80004 E”é 14.5 1‘:’3'5 23 15'5 25 194'4
PL1002 | | PTI/4 | 18 | 10 | 21 |265|27.0 17 | 189 3 1001 8 | 17 1 1 17 | 95
PL1003 PT3/8 | 18 | 11 | 21 | 255280 17 | 21 . _PCF1002 | | PTV/4 | 17 | 11 | 38 | 21 | 17 | 9.9
PL1004 PT1/2 | 18 | 14 | 21 |25.5|32.5| 21 | 37 | _PCF1003 PT3/8 | 18 | 12 | 34 | 21 21 14
PL1202 | ., | PT1/4 | 21 | 10 | 23 [285[285| 17 | 215 i PCF1202 PT1/4 | 21 11 13356 23 21 | 175
PL1203 PT3/8 21 11 23 1295 | 33 17 255 PCF1203| 12 PT3/8 21 12 35.5 23 21 16.6
PL1204 PT1/2 | 21 | 14 | 23 |295] 34 | 21 37 PCF1204 PT1/2 21 | 13,5 | 37 23 25 | 19.7
T S

OP

GA
LA
-
-

T J
- it
o

L
EB

L

———
|

-

=

0 | T

R \‘77‘77
T

BE\FS/oD R M L| c| K [LA| E GAstinGsiaHER(g) | ESWS|[oD| R oP | L K | EA | EB |3isH|E&(g)
PMF401 . PT1/8M12X1 8 | 25 | 14 |12 | 4 |4 14 | 14 | 64 | PLFAMS M5x0.8) 9 5 14 | 17 | 16 10 2.9
PMF402 PT1/4lM12X1 11 |29 | 14 [ 12 [ a |4 | 14 | 17 9 | _PLF401 4 | PTV/8 | 9 8 14 |17 21 | 14 | 46
PMF601| |PT1/8M14X1| 8 255165125 5 |4 17 | 17 | 91 F'?LLFFS‘&ZS MPSTQ/S‘S 1295 151 1‘7‘ ;é 1245 1; 6%8
PMF602| 6 |PT1/4|M14X1| 11 [30.5/16.5[12.5| 5 |4 | 17 | 17 | 10.9 ' PLFeo0T PT18 (1251 8 T 90 25 T 14 1 &8
PMF603 PT3/8|M14X1] 12 [31.516.612.6| 6 |4 | 17 | 21 | 132 | “piggoz| © [ PTija [ 125 11 | 17 | 20 | 26 | 17 5
PMF801 PT1/8/M16X1 8 |27.5/18.5/13.5/6.6/ 4 | 19 | 19 | 12.8 | “plFa03 PT3/8 | 125 12 | 17 | 20 | 27 | 21 | 107
PMF802 s PT1/4M16X1 11 | 32 |{18.5/13.5|5.5| 4 | 19 19 15.7 1 PLES0O1 PT1/8 15 8 18.5 | 23 20 14 6.6
PMF803 PT3/8|M16X1| 12 | 33 [18.5[13.5/5.5| 4 | 19 | 21 15 | PLF802 g | PT1/4 | 15 | 11 185 23 [27.5] 17 | 9.2
PMF804 PT1/2|M16X1/13.5/34.5/18.5(13.5/5.5| 4 | 19 | 25 | 18.1 | PLF803 PT3/8 | 15 | 12 | 185 23 | 285 | 21 | 11.9
PMF1001 PT1/8M20X1 8 | 30 | 21 [14.5/7.5/ 5| 24 | 22 | 19.6 | PLF804 PT1/2 | 15 | 135185 23 | 30 | 25 | 152
PMF1002 . IPT1/4|M20X1| 11| 36 | 21 [14.5[7.5/5 | 24 | 22 | 22.8 | gtggg; gEﬁ 1: 181 ;1 ;22 2245 1; Hg
PMF1003  PT3/8|M20X1| 12 | 36 | 21 [14.5(7.5/ 5| 24 | 22 | 21.1 | : : :
PMF1004 PT1;2 M20X1/13.5/37.5 21 |14.57.6/ 5| 24 | 25 | 232 | L1003 " Ptae | 18 | 12 |21 (255 30 | 21 | 145

! PLF1004 PT1/2 | 18 |13.5| 21 | 255 31.5| 25 | 17.4
PMF1202  PT1/4\M22X1 11 |34.5 23 155/ 8 | 6 | 27 | 24 | 262 | Bl Fi202 PT1/4 | 21 | 11 | 23 | 285 285 17 | 137
PMF1203/ 12 |PT3/8|M22X1| 12 |37.5| 23 |156.5| 8 | 6 | 27 24 27 " PLF1203 12 PT3/8 21 12 23 295 | 32 21 17.4
PMF1204]  |PT1/2|M22X1/13.5| 39 | 23 [15.5| 8 |6 | 27 | 25 | 26.2 | PLF1204 PT1/2 | 21 |13.5| 23 |295| 33 | 25 | 20.4

Q 262



W T —E# AIl'TAL
wE—BA%

PLLESI EA ! PHWE3F|
K | EA
H
f== ] 2_K
[a] Yo W
st QEEN -
Y U =S AN IS
) —l‘ &
| 8 =
(&) : -
o | (@] ~ f ] i
wl
‘ o M5#L1& | : |
wl om L
H —‘V% w
_ Nl T . |
_ R
R
' !
BE\ES oD R ©oP [ L [ K | EA | EB [3#H[ES(g) @ BSV=|oD| R |oP| L | C | K | EA | EB | DC [3itH E&(g)
PLL4M5 M56x0.8/ 9 35 | 14 | 17 | 325 8 8.9 | PHWA401| 4 |PT1/8| 9 | 7.5|38 | 14 |20.514.5/ 13 | 11 19
PLL401 | 4 | PT1/8 | 9 | 75 14 | 17 |3656 10 | 123 | PHW601 PT1/8/12.5/ 7.6 | 38 [16.5/23.0/ 15 | 13 | 11 21
PLL402 PT1/4 | 9 | 10 | 14 | 17 385 14 | 169 ' "pywgo2 | 6 | PT1/4 12.5| 10 43.516.5/25.0 17.56/15.5| 14 | 40.2
F;ﬁ%’g'f MF?Tj/OéS ];2 32 ]; ;8 3‘7‘2 180 ﬂg . PHW603 PT3/8/12.5| 11 | 50 |16.5/27.0| 20 |16.5| 19 | 69.2
bligoz] & [Pria iz 7o T 17 20 Tao 8174 T Ta - _PHWSOT PT1/8| 15 | 7.5 40.5|18.5|26.5/16.5 15.5| 11 | 23.6
L1603 PTa/8 | 125 11 | 17 | 20 | 43 | 17 | 234 | PHWB802| . [PT1/4| 15 | 10 (43.5/18.628.518.5/16.5| 14 | 40.8
PLLB01 pTi/s | 15 | 75 i85 23 |4a3s| 12 | 166 | PHW803 PT3/8| 15 | 11 | 50 |18.5/29.5| 20 16.5| 19 | 70.4
PLL802 | 8 PT1/4 15 10 | 185 23 | 455 14 227 PHW804 PT1/2| 15 | 14 | 61 |18.5| 32 |24.5| 22 24 134.8
PLL803 PT3/8 | 15 | 11 | 185 23 | 48 | 17 | 27.7 | PHW1002 PT1/4| 18 | 10 |46.5 21 | 31 | 20 |18.5| 14 | 47
PLL1001 PT1/8 | 18 | 7.6 | 21 | 2565 505 156 | 376 | PHW1003| 10 |PT3/8| 18 | 11 | 55 | 21 | 33 | 21 | 22 | 19 | 875
PLL1002| , [ PT1/4 | 18 | 10 | 21 255 /5636 15 | 40.6 | PHW1004 PT1/2| 18 | 14 | 61 | 21 |35.5] 25 | 22 | 24 | 1377
PLL1003 PTS/s | 18 | 11 | 21 12551645 17 | 407 | PHWI203/  [PT3/8 21 | 11 |56 |23 |36 23 22| 19 | 86.4
PLL1004 PT1/2 | 18 | 14 | 21 | 255 89 | 21 | 47.4 | puw1204 PT1/2| 21 | 14 | 61 | 23 | 38 [26.5| 22 | 24 | 1475
PLL1202 PT1/4 | 21 | 10 | 23 | 285|555 15 | 43 :
PLL1203| 12 | PT3/8 | 21 | 11 | 23 | 295 60 | 17 | 55.4
PLL1204 PT1/2 | 21 | 14 | 23 | 295| 63 | 21 | 56.7

BE\FS| oD R oP | L c K E [x3H EE(g) #E\S oD RA RB |[oP|[LA|LB| C | K | E 3HEE(9)
PHAMS |, IM5x0.8 9 |35 | 17 | 14 | 19 8 58 | PHFAM5  IM5x0.8M5x0.8 9 |35 6 20|14 19| 8 | 6.2
PH401 PT1/8 | 9 75 | 25 | 14 [205] 11 | 12.8 | PHF401 PT1/8 | PT1/8 | 9 |7.5| 8 [29.5| 14 [20.5] 12 | 12.9
PHEMS5 M5x0.8 125| 35 | 17 | 165|235 | 8 6.8 | PHF6M5 M5 % 0.8M5 x0.812.56/3.5| 6 | 20 [16.5/23.6] 8 | 7.1
PHB01 | o [ PT1/8 125 75 | 256 165 23 | 11 14 | PHF601 . | PT1/8 | PT1/8 [12.5/7.5| 8 [29.5/16.5 23 | 12 | 13.9
PH602 PT1/4 [ 125 | 10 | 28 [ 165 | 25 | 14 | 254 | PHF602 PT1/4 | PT1/4 [12.5/ 10 | 11 | 35 [16.5/ 25 | 17 | 30.3
PH603 PT3/8 | 125 | 11 | 33 [16.5| 27 | 19 | 50.2 | PHF603 PT3/8 | PT3/8 12.5| 11 | 12| 40 [16.5] 27 | 19 | 44.2
PH801 PT1/8 | 156 | 7.6 | 25 | 185 |26.56| 11 | 147 | PHF801 PT1/8 | PT1/8 | 156 | 7.5| 8 [29.5(18.6[26.56] 12 | 15
PH802 | o | PT1/4 | 15 | 10 | 28 |185 285 14 | 264 | PHF802 . | PT1/4 | PT1/4 | 15|10 | 11 35 18.5/28.5 17 | 30.7
PHB03 PT3/8 | 15 | 11 | 33 [ 1855 29.5| 19 | 494 | PHF803 PT3/8 | PT3/8 | 15 | 11| 12 | 40 [18.5/29.5| 19 | 44.8
PHB04 PT1/2 | 156 | 14 | 39 185 | 32 | 24 89 | PHF804 PT1/2 | PT1/2 | 15 | 14 [13.5(47.5[18.5| 32 | 24 | 84.7
PH1002 PT1/4 | 18 | 10 | 28 | 21 31 14 | 27.7 ' PHF1002 PT1/4 | PT1/4 |18 |10 1135|2131 17 | 32
PH1003| 10 | PT3/8 | 18 | 11 | 33 | 21 33 | 19 [ 51.1 | PHF1003] 10 | PT3/8 | PT3/8 | 18 | 11 | 12 |40 | 21 |33 | 19 | 46.2
PH1004 PT1/2 [ 18 | 14 | 39 | 21 [355| 24 | 885 | PHF1004 PT1/2 | PT1/2 | 18 | 14 [13.5[47.5| 21 [35.5| 24 | 86.1
PH1203| , | PT3/8 | 21 11 | 33 | 23 | 36 | 19 53 | PHF1203| ., | PT3/8 | PT3/8 | 21 | 11|12 40|23 36 | 19 | 48.4
PH1204 PT1/2 | 21 14 | 39 | 23 | 38 | 24 | 92.8 | PHF1204 PT1/2 | PT1/2 | 21 | 14 [13.5[47.5| 23 | 38 | 24 | 89.7
PKD %5l JC
3-0PB i . ®m=wyws | oDA | oDB| R L A | oPA | oPB | KA
3-0DB < i m i PKD6-401 6 4 PT1/8| 7.5 | 66.5 | 125 9 16.5
| | |
2_0J o ; ; PKD8-602 8 6 PT1/4 | 10 79 15 12.5 | 18.5
H 3 y ! PKD10-803 10 8 PT3/8 | 11 91.5 18 15 21
R i
- w AT e BS\IFS | KB oJ JB JC DC E | ¥MiaH EEg)
513 1 s 2 PKD6-401| 14 3.2 8 34 10 175 | 12 15.8
~]® - L ['H] PKD8-602 | 16.5 | 3.2 9.5 40 12 21 14 | 26.5
KA DC|DC L PKD10-803 18.5 | 4.3 11 48 14.5 24 17 38.2
A

P4 263



W T —E# AIl'TAL
wE—BA%

PEB3I  PYBE3I DC

2-EA
2-K

2-0P
2-0D

m
)
o 8 = T
m) oJ J (@]
. M5
o M5#L 1%
L
T H UJ
R — T
R — R
BEVES oD] R | OP| L | K |EA|EB | ©J| JB [3faH|E&(g) | HEVS|oD| R oP/ L | c | K |[0oJ]JA| DC |3iaH|EE(g)
PEB4M5 M56x0.8 9 |35 |14 |17 |21 |32]|6.5 9 6.8 '\ PYB4MS5 Mb5x0.8/ 9 |3.56356.5 14 | 3.2| 13 | 10 9 6.7
PEB401| 4 PT1/8 9 | 75|14 |17 |25 |32]|6.5 10 8.8 . PYB401 | 4 PT1/8 9 1 7.539.5/ 14 | 3.2 | 13 | 10 10 9
PEB402 PT1/4 9 10 | 14 | 17 | 28 1 3.2 6.5 14 156.5 1 PYB402 PT1/4 9 | 10 42,5/ 14 | 3.2 | 13 | 10 14 10.8
PEB6M5 M5b5x0.812.5/ 3.5 |16.5| 20 (23.5| 3.2 8 12 11.2 " PYB6M5 M5 x 0.8(12.5/ 3.5 |40.5/16.5| 3.2 |[15.5| 12 12 11.1
PEB601 5 PT1/8 |12.5| 7.5 |16.5| 20 |27.5/ 3.2 | 8 12 13.5 PYB601 6 PT1/8 [12.5/ 7.5 |44.5/16.5| 3.2 |[156.5| 12 12 13.7
PEB602 PT1/4 |12.5| 10 [16.5| 20 |30.5/ 3.2 | 8 14 18.6 : PYB602 PT1/4 |12.5] 10 |47.5/16.5| 3.2 |[156.5| 12 14 18.2
PEB603 PT3/8 [12.5/ 11 |16.5) 20 | 32 | 3.2 | 8 17 25.3 | PYB603 PT3/8 |12.5/ 11 |49.0/16.5| 3.2 |15.5| 12 17 25
PEB801 PT1/8 | 156 | 7.5 |18.5| 23 130.5/ 4.3 | 9.5 14 18.4 PYB801 PT1/8 | 15 |7.56|50 /18.5/ 3.2 | 17 |14.5| 14 19.8
PEB802 3 PT1/4 | 15 | 10 [18.5| 23 | 33 | 4.3 | 9.6 14 21.3 . PYB802 3 PT1/4 151 10 52.5/18.5/ 3.2 | 17 |14.5 14 22
PEB803 PT3/8 | 15 | 11 |18.5| 23 |34.5| 4.3 | 9.5 17 28.2  PYB803 PT3/8 | 15| 11 | 54 |18.5/ 3.2 | 17 [14.5| 17 27.7
PEB804 PT1/2 | 15 | 14 |18.5| 23 138.5/4.3 9.5 | 21 41 PYB804 PT1/2 | 15| 14 | 58 |18.5/ 3.2 | 17 [14.5| 21 40.8
PEB1001 PT1/8 | 18 | 7.5 | 21 |26.5| 34 | 4.3 11 17 26.7  PYB1001 PT1/8 | 18 | 7.5|56.5| 21 | 4.3 [19.5| 18 17 27.4
PEB1002 10 PT1/4 | 18 | 10 | 21 |26.5/36.5| 4.3 | 11 17 29.2 1 PYB1002 10 PT1/4 | 18 | 10 | 69 | 21 | 4.3 [19.5] 18 17 29.5
PEB1003 PT3/8 | 18 | 11 21 126.5/37.5/ 4.3 | 11 17 31.9 | PYB1003 PT3/8 18111 60| 21 |43 /19.5 18 17 32.5
PEB1004 PT1/2 | 18 | 14 | 21 |26.5/41.5| 4.3 | 11 21 45.4  PYB1004 PT1/2 |18 | 14 | 64 | 21 | 4.3 19.5 18 21 45.4
PEB1202 PT1/4 | 21 10 | 23 | 30 | 41 |43 13 21 49.6 | PYB1202 PT1/4 | 21|10 | 66| 23 | 4.3 | 21 [20.5| 21 27.3
PEB1203| 12 | PT3/8 | 21 111 23|30 42 |43 13 21 51.2 | PYB1203| 12 PT3/8 | 21|11 |67 | 23 | 43| 21 |20.5| 21 51.8
PEB1204 PT1/2 | 21 14 | 23 | 30 | 45 | 4.3 13 21 57.3 | PYB1204 PT1/2 | 21|14 |70 | 23 | 4.3 21 |20.5| 21 56.8
PEDZ %I PZB# 5|
‘S—J A
; ; : o
e
<| i 3-K
e ; !
N — i Ao i ‘,,,‘,,,)- ] - o
IS B
| i (8} n_n}t L 1 ! o
\ e
| oJ
@ w 2-0J
y H
—
_ I i “ R
R R JC

RBS\FS oD R OP| L K |EA | EB | ©J JB 3iiH E&(g)  ES\¥S oD R L/ /A E|  C oP K oJ JB JCMHEE(g)
PED4M5 M5x0.8/ 9 |35 |14 | 17 | 21 |3.2|6.5 9 6.8 PZB601 PT1/8/7.56 27.5/47.5 12 | 16.2
PED401 | 4 | PT1/8 9 |75 14 1725 ]32]65| 10 8.8 | PZB602 | 6 |[PT1/4/ 10 39.530.56/50.56/12.5(16.5/3.2| 8 | 16 | 14 | 20.4
PED402 PT1/4 9 |10 | 14 |17 28 |3.2|65 14 15.5 | PZB603 PT3/8| 11 32 | b2 17 27

PED6M5 Mb5x0.8/12.6| 3.6 |16.5| 20 |23.56/3.2 | 8 12 11.2 PZB801 PT1/8/7.56 30.5/63.5 14 | 20.9
PEDG01 PT1/8 |12.6/ 7.5 |16.5| 20 |[27.5/3.2 | 8 12 13.6 | PZB802 PT1/4/ 10 33 | 66 14 | 23.8
PED602 6 PT1/4 |12.5/ 10 |16.5| 20 |30.5/ 3.2 | 8 14 18.6 | PZB803 8 PT3/8 11 46 34.5/67.5 1518.6/4.319.5) 19 17 | 29.9
PED603 PT3/8 [12.5/ 11 |16.6| 20 | 32 | 3.2 | 8 17 25.3 | PZB804 PT1/2| 14 38.5/61.5 21 | 43.5
PED8O1 PT1/8 | 16 | 7.5 |18.56| 23 |30.5/ 4.3 | 95| 14 18.4 PZB1002 PT1/4/ 10 36.5| 63 17 | 33.6
PED802 s PT1/4 | 156 | 10 |18.6| 23 | 33 | 4.3 | 95| 14 21.3 | PZB1003| 10 |PT3/8| 11 |52.5(37.5 64 | 18 | 21 |4.3|11 |22 | 17 | 36.5
PED803 PT3/8 | 156 | 11 |18.56| 23 |34.5/ 4.3 | 95| 17 28.2 PZB1004 PT1/2| 14 41.5/ 68 21 | 49.2
PED804 PT1/2 | 15 | 14 |18.5| 23 |[38.5/ 4.3 | 9.6 | 21 41 1 PZB1203 PT3/8 11 42 | 72 21 | 56.5
PED1001 PT1/8 | 18 | 7.5 | 21 |26.5| 34 | 4.3 | 11 17 26.7 PZB1204 12 PT1/2| 14 89.5 45 | 75 2112814.3)13 26 21 | 65.4
PED1002 10 PT1/4 | 18 | 10 | 21 |26.5|36.5/ 4.3 | 11 17 29.2 |

PED1003 PT3/8 | 18 | 11 | 21 |26.5|37.5[ 4.3 | 11 17 31.9

PED1004 PT1/2 | 18 | 14 | 21 |26.5|41.5/ 4.3 | 11 21 45.4

PED1202 PT1/4 | 21 | 10 | 23 | 30 | 41 |43 |13 | 21 49.6

PED1203| 12| PT3/8 | 21 | 11 | 23 | 30 | 42 |43 | 13 | 21 51.2

PED1204 PT1/2 | 21 | 14 | 283 | 30 | 456 | 43 | 183 | 21 57.3

Q 264



WA T —E# AIl'TAL
FE—2 e MBA%

A iT %5
BPC 6 01 []
OREION
| |
OMERS QEENE QEFIRLY DFBRKS
BPC: 2 ERUHBE | BPCF: EENRNEE
W - ‘ 4. ®4mm M5: MBX0.8
e G 1 6. ®6mm 01: PT1/8
7777777777777777 ol ......_._.__..8 ®8mm 02: PT1/4 =8. PTF
BPOC: iﬁ%%’iéﬁlé@ EBPMF: iﬁ)%?\]%%ﬁéﬁ 10. ®10mm 03: PT3/8
Wizn[ ‘ 12: ®12mm 04: PT1/2
BPM 6
|
[
DMERS Qg0
BPM: £ EFIREE 4: ®4mm
_ 6: O6mMM
i 8. ®8mm
— 10. ®10mm
12. ®12mm
g BEOmBaS5HERNEEER
EHE” ;I'..’-. 0~9kgf/cm2(0~0.9MPa) F [-] g;ll Mﬁ(iﬂ#ﬁ h‘lg A &
AR —750mmHg(10Torr) = Y ®.4 G).G o8 ©10 ©12
{RIUE /D 1.56MPa PT1/8 ° D D ®
BREEEE (C) 0~150 BPC PT1/4 ® D D D °
ERRE ERIETPUE PT3/8 L) L ° ®
oe DE/RE Pz = n o °
] SRZEEAN, SMARETPUETMRS S, BPOC PT1/8 ® D D
BPCF PT1/4 o M) °
PT3/8 [ ] [ ]
[=] PT1/2 [ ]
it M5
1. EFSRRBAKES, FRABEASHSN, SS0DSHRTS, semE - b : : =
[T RNBTFRESARS; PT3/8 ® °
2. EMAEST, TEISSERNEASEIRE; PT1/2 ®
3. RIBEEEREHEXRE, SEEERTHELTEXMA; =R R ST o5 ] *ﬁ%g& —5T o1z
4, BEESRBIF, MSASIBSINBRRE, BRBSIEESHTILR, BPM e e e e e
5. EERNESBATLUMBERAER, NWATESEE
6. TEEBEEATERNIE,
gD
BPCZ5I 3 s &% W&
2P ® 1 | eEEO | =@
O8¢ m L 2 R
3 BERA AEEHN
B 1 S| 4 | FEum | 8ss
. 5 SR0S | BER
T f 6 | EBEBAR | @i

P4 265



WM —EES AIl'TAL

mE—2aEBg%
ShERRRAE

BPCEH® BPOCES

*

H ‘g ‘ ¥ o MBI
‘ v MBI ! | 0
| ol T ! i i %7 ”””””””””””””””
| o | = R |
: — | R -
* Ji R :
i ) | =
BME%S [oD| R L [ c [ K [358HER(g) | | K8
BPC4M5 M5X0.8|3.5[19.56/ 14| 9 | 55 | A\ op
BPC401 | 4 | PT1/8 |7.5[19.5/ 14| 10 | 7.9
BPC402 PT1/4 |10 |19 [ 14| 14 | 87
BPC6M5 M5X0.8|3.56| 22 |16 | 12 [ 10.1
BPC601 PT1/8 | 7.6 21.6| 18 | 12 [ 14.2 | N . -
BPC602 | © | PTI/4 | 10| 24 18| 14 | 19.1 3 wEWS ob R | OP| L | C | K 3itHER(9)
BPCG03 PTa/8 |11 225 18 | 17 | 268 3 BPOCAMS | , |M5X0.8| 9 |35 185 14 | 2 | 4.4
BPCS01 PTi/8 | 75276 18 14 | 161 | BPOC401 PT1/8 | 10 | 7.6 (1756, 14 | 256 | 6.6
BPCS02 | 8 | PTi/4 | 10 265 18 | 14 | 16 3 BPOC6M5 M5X0.8| 12 | 35| 21 | 16 | 2 7.1
BPC803 PT3/8 | 11 | 23 | 18 17 25.4 BPOC601 6 PT1/8 12 | 7.5 |21.5| 18 4 8.4
BPC1001 PT1/8 |7.56|29.5[20.5] 17 | 245 3 BPOC602 PT1/4 | 14 | 10 |21.6 18 | 4 | 136
BPC1002 PT1/4 | 10 | 32 12056/ 17 28 ; BPOC801 3 PT1/8 | 14 | 75 | 26 |[175] b 12.3
BPC1003 | 0 PT3/8 | 11 (27.5/20.56] 17 | 34.6 3 BPOC802 PT1/4 | 14 | 10 |245 /1756 6 12.7
BPC1004 PT1/2 | 14 |25.5/20.5| 21 39.3 | BPOC1002 10 PT1/4 17 10 |28.5|20.5 6 18.5
BPC1202 PT1/4 | 10 [34.56| 22 | 21 [ 445 3 BPOC1003 PT3/8 | 17 | 11 |27.5/206| 8 | 24.9
BPC1203 | 12 | PT3/8 | 11 |30 | 22 | 21 | 34.2 3 BPOC1203 | ,, | PT3/8 | 21 | 11 [29.5[ 22 | 8 [30.4
BPC1204 PT1/2 | 1432 [ 22| 21 | 47 : BPOC1204 PT1/2 | 21 | 14 [315| 22 | 8 | 424
BPCF# 3l | BPMF®R3
oP - i
oD ; i oD 1 i
I | | - | |
== | - & E==2 | |
i ; P @ﬁé&%' — < ; 3
| v | IS MO\ [\]I]l | 1
H i @) e 3 @) e
| S T w
SEE : F—1—1
\’\‘ ‘T —'i 3 ﬂ Lo JJ
W | H -
R 3 R
BS\FS oD R OP| L c K | ¥iH E&(g)
BPCF4M5 | , [M5X08| 9 | 6 | 21 [ 14 | 10 | 35 |
BPCF401 PT1/8 [95| 8 | 23 | 14 | 14 | 563 | BS\HS oD R M | L | C| K|LAE GAAG 3iaH E&l(g)
BPCF6M5 M5X0.8| 12 | 5 | 21 | 16 | 12 | 5.6 | BPMF401 | 4 |PT1/8/M12X1| 8 |25 | 14 |12/ 4 |4 | 14 | 14 | 76
BPCF601 | 6 | PT1/8 [126] 8 | 25 | 16 | 14 | 7.2 - _BPMF601 | . |PT1/8|M14X1| 8 |26 | 16 |12[5 4 | 17 | 17 | 10.4
BPCF602 PT1/4 [125] 11 | 28 [ 16 | 17 | 9.2 ! BPMF602 PT1/4[M14X1| 11 [ 30 | 16 [12] 5[4 | 17 | 17 | 122
BPCF801 [ o | PTI/8 | 14 | 8 [ 27 | 18 | 14 | 7.1 - _BPMF801 [ o [PT1/8[M16X1| 8 | 27 | 18 |13[5.5/ 4 | 19 | 19 | 13.9
BPCF802 PT1/4 (145 11 | 30 | 18 | 17 | 10.6 | BPMF802 PT1/4|M16X1| 11 [31.5/ 18 [13/6.5| 4 | 19 | 19 | 15.3
BPCF1002 | | PT1/4 | 17 | 11 [32.6/20.5] 17 | 135 - BPMF1002[ TPT1/4[M20X1| 11 [34.5[20.5/14[7.5/ 5 | 24 | 22 | 26.2
BPCF1003 PT3/8 | 18 | 12 [33.5/20.6| 21 | 17.5 ! BPMF1003| ~|PT3/8]M20X1| 12 [35.6/20.5[14]7.5 6 | 24 | 22 | 24.4
BPCF1203 | ., | PT3/8 | 21 | 12 [ 356 | 22 | 21 22 - BPMF1203,,|PT3/8[M22X1| 12 [ 37 | 22 [15/ 8 | 6 | 27 | 24 | 32.6
BPCF1204 PT1/2 | 21 [13.5/36.56] 22 | 25 | 24.9 . BPMF1204| “|PT1/2|M22X1[13.5[38.56/ 22 |15/ 8 | 6 | 27 | 25 | 31.8
BPM#% 3l
A | |
R | |
L E G ! 1 BE\ZFE [ oD| ™M A K| L[| E]|GA3iaGEEg)
7‘[ | | BPM4 | 4 |[M12X1/28.5| 14 | 10| 7 | 4 | 14 | 6.4
M) - | | BPM6 | 6 [M14X1/33 [ 16 10 11| 4 | 17 | 16.4
1S 1 ):( BPM8 | 8 |[M16X1| 37 [ 18 |11 13| 4 | 19 | 1568
A1 R 1 1 %L BPM10 | 10 |M20X1 41.5/20.5| 12 | 16 | 5 | 24 | 28.9
LA 4 Jj & BPM12 | 12 [M22X1| 45 | 22 [ 13 [17.5] 6 | 27 | 403
2-GA ] b~
i
M

Q 266



X-ON Electronics

Largest Supplier of Electrical and Electronic Components
Click to view similar products for Other Tools category:
Click to view products by AIRTAC manufacturer:

Other Similar products are found below :

899-2-KT46 CR-0AFL4--332K 568681-1 5800-0090 58061-1 59085 00-8273-RDPP 593033 593072 593564100 593575 593593 010-
0003-0000 011349-000 CRCW08052740FRT1 LUC-012S070DSM LUC-018S070DSP LUC-024S105DSP 599-2021-3-NME 599-J3-2021-
03 CRCW2010331JR02 601-JJ-06 601-SPB 601YSY 602-JJ-03 602SPB 603-JJ-07-FP 603-JJY-04 CRTN1013 CS16 6-1579014-0 6203
6240-1 M43435TY 1SZ 3 FIN B BLK M43435TY 2SZ 3 FIN CBLK M43435TY 5SZ 3FIN CNAT M-5Z M6816 660-29ABT1
662508-1 CVHD-950X-93.333 CW104-01X 671-GP-04-KT39-73207 CW307-01A CW30901A CW6211201A 679793-1 690191-1 690191-
3 690317-2



https://www.xonelec.com/category/tools-supplies/tools/other-tools
https://www.xonelec.com/manufacturer/airtac
https://www.xonelec.com/mpn/marathon/8992kt46
https://www.xonelec.com/mpn/viking/cr0afl4332k
https://www.xonelec.com/mpn/teconnectivity/5686811
https://www.xonelec.com/mpn/coto/58000090
https://www.xonelec.com/mpn/teconnectivity/580611
https://www.xonelec.com/mpn/teconnectivity/59085
https://www.xonelec.com/mpn/gcelectronics/008273rdpp
https://www.xonelec.com/mpn/belfuse/593033
https://www.xonelec.com/mpn/belfuse/593072
https://www.xonelec.com/mpn/belfuse/593564100
https://www.xonelec.com/mpn/belfuse/593575
https://www.xonelec.com/mpn/belfuse/593593
https://www.xonelec.com/mpn/teconnectivity/01000030000
https://www.xonelec.com/mpn/teconnectivity/01000030000
https://www.xonelec.com/mpn/teconnectivity/011349000
https://www.xonelec.com/mpn/vishay/crcw08052740frt1
https://www.xonelec.com/mpn/inventronics/luc012s070dsm
https://www.xonelec.com/mpn/inventronics/luc018s070dsp
https://www.xonelec.com/mpn/inventronics/luc024s105dsp
https://www.xonelec.com/mpn/marathon/59920213nme
https://www.xonelec.com/mpn/marathon/599jj202103
https://www.xonelec.com/mpn/marathon/599jj202103
https://www.xonelec.com/mpn/vishay/crcw2010331jr02
https://www.xonelec.com/mpn/marathon/601jj06
https://www.xonelec.com/mpn/marathon/601spb
https://www.xonelec.com/mpn/marathon/601ysy
https://www.xonelec.com/mpn/marathon/602jj03
https://www.xonelec.com/mpn/marathon/602spb
https://www.xonelec.com/mpn/marathon/603jj07fp
https://www.xonelec.com/mpn/marathon/603jjy04
https://www.xonelec.com/mpn/coto/crtn1013
https://www.xonelec.com/mpn/curtis/cs16
https://www.xonelec.com/mpn/teconnectivity/615790140
https://www.xonelec.com/mpn/coto/6203
https://www.xonelec.com/mpn/coto/62401
https://www.xonelec.com/mpn/breyden/m43435ty1sz3finbblk
https://www.xonelec.com/mpn/breyden/m43435ty2sz3fincblk
https://www.xonelec.com/mpn/breyden/m43435ty5sz3fincnat
https://www.xonelec.com/mpn/triad/m5z
https://www.xonelec.com/mpn/tamura/m6816
https://www.xonelec.com/mpn/wakefield/66029abt1
https://www.xonelec.com/mpn/teconnectivity/6625081
https://www.xonelec.com/mpn/crystek/cvhd950x93333
https://www.xonelec.com/mpn/marathon/cw10401x
https://www.xonelec.com/mpn/marathon/671gp04kt3973207
https://www.xonelec.com/mpn/marathon/cw30701a
https://www.xonelec.com/mpn/marathon/cw30901a
https://www.xonelec.com/mpn/marathon/cw6211201a
https://www.xonelec.com/mpn/teconnectivity/6797931
https://www.xonelec.com/mpn/teconnectivity/6901911
https://www.xonelec.com/mpn/teconnectivity/6901913
https://www.xonelec.com/mpn/teconnectivity/6901913
https://www.xonelec.com/mpn/teconnectivity/6903172

